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Options and Mathematics: Lecture 25

December 15, 2020

Introduction to bond valuation

Bonds are debt instruments issued by national governments and private com-
panies as a way to borrow money and fund their activities.
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Recall that a zero-coupon bond (ZCB) with face (or nominal) value K
and maturity 7" > 0 is a contract that promises to pay to its owner the

amount /A at time T in the future, 1-\’ T

Without loss of generality we assume that K = 1, as one share of the ZCB
with face value K is clearly equivalent to K shares of the ZCB with face
value 1.

In the following we also assume that all ZCB’s are issued by one given insti-
tution, so that all bonds differ merely by maturity.

A zero-coupon bond market (ZCB market) is a market in which the
objects of trading are ZCB’s with different maturities.
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For modelling purposes we assume that all ZCB’s in the market expire before
time S (e.g., Sl/&&"\&'dlh) and that there exists a ZCB which matures at } RouL ¢«

any time 7' € (0,.9). ASD VWNTT (0N

Finally it is assumed that the issuing institution bears no risk of default, and
thus in particular the ZCB’s in the market are risk-free assets.

Let us denote by B(t.7T'), for t <T < S, the value at time ¢t of the ZCB that
expires at time 7. Clearly, B(t.T) = 0 for all t <T and B(T,T) = 1.
Forward rate

The difference in value of ZCB's with different maturities is expressed through
the implied forward rate of the bondw gz ez

To define this concept, suppose that at the present time ¢ we open a portfolio

that consists of L Tay 4
e A——t
e —1 share of a ZCB with maturity ¢+ < 7" and
ST BN T Tab
e B(t,T)/B(t,T + @) shares of a ZCB expiring at time T + 4. y
(4
¥Fecevwe

This investment has zero value and entails that we pay 1 at time T and
receive B(t,T)/B(t, T+ d) at time T + 4.

Hence our investment at the present time t is equivalent to an investment in
the future time interval [T, T + 4] with (annualized) return given by
— =

e ‘ B(t.T) — B(t.T + 5
e ):%(B\@’T@fj@"” T

The quantity Fz(¢,T) is also called discretely compounded M rate €
in the interval [T, T + 4] locked at mgﬁ AT §7
- Y

The name is intended to emphasize that the investinent return in the future
interval [T, 7'+ 4] is locked at the present time ¢ < T, that is to say, we know
today which interest rate has to be charged to borrow in the future time
interval [T, T + 4] (if a different rate were locked today, then an arbitrage
opportunity would arise).
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mal” period of time. In the following we shall consider only continuously

N The quantity &h M % (’,\-

—
t T < T

When 6 — 07 we obtain the can.tlmmu_y compounded T-forward rate

—_———

Vo)) /
[.‘t’D f(t,T) = lm@m /6‘(1"10531‘ 1), | BH

which is the rate locked at time t to borrow at time T for an “infinitesi-
N ——

~—
compounded rates.

The curve 7' — f(t,T) is called forward rate curve of the ZCB market.

The knowledge of the forward rate curve determines the price B(t,7) of all
ZCB's in the market through the formula
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15t = AT
b r(t) < f(t ) te0,5]
T ST =4
is called the (continuously compounded) spot rate of the ZCB mar-
ket at time t and represents the interest rate locked at time t to borrow
instantaneously at time ¢ (i.e., on the spot). / f
= A I Zol

Example. Suppose that today (November 1st, 2017) an investor wants to - “'&' t
sign a contract to borrow 1000000 Kr on May 1st, 2018 for a period of 6 -
months. There are essentially two ways in w \ which this loan can be issued. T= ‘&'M
The first way is to fix the interest rate today as the forward rate f&7T), -

" where t =November Ist, 2017 and 7" =May 1st, 2018. Note that f¢77) <§ - + M nTes

second way to issue the loan is at the spot rate(R2(7T')) However the interest
rate R(7') is not known at time ¢, hence in this case the investor must wait
until the first of May 2018 to know which interest rate will be charged to the
loan. Of course, this second method entails a risk for both the borrower and E (T \ > E:%(:T ,T)

the lender. —

is known at time ¢, as it depends on the prcscnthz% price of ZCB’s. The
(1)
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The spot rate can be used to define the discount process: | & iz 8 \S @WP3L AN /
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If ¢ is the present time and X (7) is the value of an asset at some given future
time 7 > f, then the quantity

Sfw=dse) jﬂ
‘,_

—

d(r) f o AN
—X(1)=e - r(s)ds | X
o =eo (- [rwa) xe T W)
- atlz)
is called the present (at time #) discounted value of the asset and represents \
the future (at time 7) value of the asset relative to the purchasing value of (- “tn

money at that time. &
: S )

When t = 0, we denote the discounted value as d(7) X (1) = X*(7). If r(t) = r Sy
is constant, we have d(t) = e, hence X*(7) = ¢7""X(7) is precisely the 0 CONSTAVT

AN WAL\ discounted value used for stock prices in our previous discussions. SRot1 %A
R TN The (continuously compounded) yield (to maturity) y(¢,7') at time ¢ of
the ZCB with maturity 7" is the constant forward rate which entails the value
A B(t,T) of the ZCB. Hence the vield y(t,7") of a ZCB is obtained by replacing
f(t,v) = y(t.T) in (), ie., A

log B(t, T) —
T—t %H‘\T’) T

To put it in different words: Selling a ZCB for the price B(t,T') at time ¢
(i.e., borrowing B(t,T) at time t) is equivalent to lock the constant forward
rate y(t, T') until maturity.
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Coupon bonds

<1

4=

/ Let 0 <t; <ty < -+ <ty =T bea partition of the interval [0, 77].

A coupon bond with maturity 7", face value 1 and coupons ¢y, o, ..., cpr €
[0,1) is a contract that promises to pay the amount Ck at time f;_ and the
amount 1 @m at maturity T = t,.

We set ¢ = (¢y,...,cy) and denote by B.(t,T) the value at time ¢ of the
bond paying the coupons ¢y, ..., ¢y and maturing at time 7.

Now, let £ € [0,7] and k(¢) € {1...., M} be the smallest index such that
iy > t, that is to say, fq is the first time after £ at which a coupon is paid.

Holding the coupon bond at time t is clearly equivalent to holding a portfolio
containing ¢y shares of the ZCB expiring at time £, cx)41 shares of the

ZCB expiring at time #5441, and so on, hence RN U— + w (—t l:,
v BN = ’_/%as )

(,Bff)-i-(l-‘r(,”)B(tT)
. Z \/H,"Q_’ VAYA%% o¥F

J=k()

é)( N
the sum being zero when k(t) = M. A \VC c % PG
J sy M X b
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i=k(t) ”

The yield of a coupon bond is defined implicitly by the equation

Hence the yield of the coupon bond is the constant spot rate used to discount
the total future payments of the coupon bond.

Most commonly the coupons are equal. Letting ¢; = ¢, forall j =1,..., M,
the formula defining the vield of coupon honds simplifies to

T
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Example.

Consider a 3 year maturity coupon bond with face value 1 which pays 2%
coupon semiannually. Suppose that the bond is listed with an yield of 1%.
What is the value of the bond at time zero? The coupon dates are

(t1,t2, ta, ta, ts, 1) = (1/2,1,3/2,2,5/2,3),
and ¢y = ¢y = -+ = ¢ = 0.02. Hence

5 a /o A
B.(0,T) = 0.0220011/% | 026001 4 026001372 4 ). 02e~001F 4 () o005/
+1.02¢ 0023 M\lﬁsz >S4 = AT UALYNC

Bonds are listed in the market in terms of their yield rather than in terms
of their price. The curve T — y.(t,T') is called the yield curve of the ZCB
market, see figures.

Sweden Yield Curve - 13/02/17

Sweden Government Bonds
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Figure 1: Yield curve for Swedish treasury bonds on February 13, 2017.
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Figure 2: Yield curve for US treasury bonds on December 111, 2020,
The classical approach to ZCB’s pricing

We conclude by describing the so-called classical approach to ZCB's pric-
ing.

A cornerstone of this approach is to interpret bonds as financial derivatives
on the spot rate.

As in the case of stock options, the dynamics of the underlying asset (in this
case the spot rate) is prescribed a priori in the form of a stochastic process
- 00

{r(t) }ecp.s)-
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Definition 6.10

Let {r(t)}icjo,s) be a stochastic process modeling the spot interest rate of
the ZCB market, where we assume that that »(0) = ry is a deterministic
constant. Then

B(0,T) = E[d(T)] = E[ﬂﬂ, 0o<T<s &

P(SCOUNT pACTOR
is called the risk-neutral value (at time ¢ = 0) of the ZCB with maturity 7'
and face value 1.

Hence the value at time ¢ = 0 of the ZCB is the expected value of the
discounted future payment = 1 of the ZCB.

Important Remark:

Note that in a purely ZCB market, one cannot define a martingale, or risk-
neutral, probability, hence the expectation in the definition above is taken
in_the physical probability. Equivalently, in the classical approach to ZCB's
pricing, the physical probability is assumed to be risk-neutral.

Exercise 6.38

In the, Vasicek model, the risk-free rate is assumed to satisfy ( * | b’ S \\
\ ) : r 3 "
Er(t) =7(0)e ™ +b(1 —e ™)+ oW(t) — ao / W () ds, (1) ConsT AN
- o AN AMETELS

where {W(t)}>0 is a Brownian motion and @ > 0,b € R, o > 0 are constants.
Show that the initial price of the ZCB with face value 1 and maturity 7" = 0
is given by +

) = o ~TOAD=CT), (2a)

where X
1

A(T) = ~(1 = ™), (2b) j
- C(T) = (b - %) (T — A(T)) + %A{T)Q. (2¢)

Plot the yield curve at time £ = 0 ans study numerically how it depends on
the parameters a.b, o of the model. HINT: You need Theorem 6.6.

8
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Solution: (gzpo 7 ‘%\/ oV sl P)
We have
T
B(0,T) = ]E[cxp(—/ r(s)ds)].
o

For the Vasicek model the integral in the expectation is

/UT r(s)ds = r(0)A(T)+bT—bA(T)+o /‘;T W(s)ds—ao /:‘e_“ﬁ (/09 e“"l-'V{'r)rl'r) ds,

In the double integral we write e~ = —a~!(de~¢/ds) and then integrate by
parts in the s—variable to obtain

T T s T
0/ W(s)ds — aof e (/ e”l-'r”('r)d'r) ds = af "W (7) dr.
0 0 0 0

Let G = fnT e“T=OW (1) dr. Choosing

1— c{a(i—T)

o(t) = —=

in Theorem 6.6 we find that G € N(0, A(T)), where
T _ a(t=T)\ 2
A(T) = / (167) dt.
Jo a
It follows that

B(() T:] _ e—r(U}A[T)—E,l[]"'—,Ai('}f"}):IE[e—o'\.-".ﬂ('}f"}h’]T H = G

€ N(0,1).

L
=
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Using

Ele™" L\(’I')H] :]e—aqfa{i')y_%yz dy _ pho?am)
B \/Q?T

we obtain

B([],T) _ c—r(U}A(T}—b(T—A(T))+%UQA(T),

from which the formula in the exercise follows after some straightforward
calculations.

10
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